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3-5 — Slope of a Line Formula

Slope — number of units the line rises or falls from left to
right (point to point)
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Finding the slope:
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Slope formula - @- Y
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Find the slope of the following lines:
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3-5 SLOPE EXAMPLE PROBLEMS

1) Determine whether each line in the coordinate system below has a positive,
negative, zero, or no slope.
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2) What is the slope of the line passing through (4,9) and (-1,12)?
_ Y2=Y« __ 129 iz
m= ——+ = = —
Kz2=X\ — -4 -5
XNe KaNa

3) What is the slope of the line passing through (2,7) and (1,4)?
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4) What is the slope of the line passing through (-2,5) and (-2,1)?
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,5), and C(6,3). Find the slope of each
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